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Wohnung Erdgeschol}

2
Vohnraum 6,41 x 5,14 = 32,95 x
Gistezimmer 3,76 x 4,01 - 15,08 "
Schlafraum 4,01 x 4,01 = 16,08
Kinderzimmer 4,14 x 2,50 = 10,35 *
Bad 1,70 x 2,385 = 4,05 "
L% 0,90 x 2,385 = 2,15 "
Kiiche L,01 x 2,15 = 8,62
« Kamin 0,73 x 0,285 = -0,21 = 8,41 "
EBzimmer 4;01 x 2,k5 = 9,82 "
Flur 6,965 x 1,64 = 11,42
Absug 1,635 x 0,13 = = 0,21 = 11,21 "
Loggia 1/2 X 7,70 x 1,50 = 3,78 "
' ' 15, .2 170,40
- 3% Verputz /ﬁz w® 2%
Wohnfliche EG.  112¢%0 m? 100.£o
10lp. &0
Vohnung ObergeschoS; Aufstellung wie ErdgeschoS 112740 m
. 13,6y
Gesamtwohnflkchen 22480 m?
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Roth, den 12.11.1971.
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